. . ¥, LA . j\d_‘:/J\ ()‘5) %’/E;JU %_/ g Ve | /g}\{\
Z)/"J CV/ T o c\, : e 5 (:,’e,%} !
\ o\ At N T

=

e

r AN L e }-70\ S
3 ~

7~ . <y
B 2.,,3)&3\ pa

6));&)\9;»!#[&&“
. Vi & 5o das o L

| | U T T e

a8 2
A\ G e 2 s\ L -
w_&»éuw o L. 0

‘ f //]\ S
@ ’?}/de\&/‘}oy,ﬁ))<g\m /ﬁﬂ*

d i ;'z:f‘/ »’ ‘:{_Z
= \DJZ,&/‘M\ ,f“" W

v 7 - ,,« 7 j{ﬂ) ,A's‘D F 2
/ S éM;J\ c:é&/)iﬁ \v/“\y\ tJ | K
& » f) jM - ¥ & = \ 1 »/j é‘.ys 3 5 /e,P
E - /a ) Eanid }\\ e w /L/\J / .4: A il ! B ‘

12

! ~
cD i\)jﬂf/"i C:)‘ij,y‘ ——— Lacefd o~
4 i
D 2 D = 4086 D W) -y s
g N
A
= L/!"H/) /7/;::544
=) IR f?/,if
| — = %;
@ | = éwﬁff s



3

(2, =

o T

A

2

s T ;
5 (:;i, ‘Lj _} \ ':._.j P 4 A\ fhi= E — 1_/%1) f;//:‘j‘f- Snat ¥

/! _

)

« s 1,‘{:_'_; ﬁ,&.% ,..' i f“.
3.0 = 369e £4 =D dusl b= 3

y 6
U:ﬁw ‘:\)U;S‘S&%é; (A;GVJ e
A ‘ T 7

A e

>\G= g0 ¥ _| (]

o . I —

R i ;\5;;)"‘{{\,& —

? i Ce ) é
B =>a= oo (?EM) + U 2;@3/ >

S la =9 328,63 X (ﬁ

) /' | PR [y J 23 ME,,J.} = b

A

if%&_‘,ﬁ-)

, & - o
(4,2 g) , :’,("’,/;E". )

- 3pvo v

107

‘ & 4
Mfﬁu} g

93

e

343 5% EX2T WL

| | - | | |
| sSoLger ! 2eohsy [Soafor [SIeeys ©

o | e p N




Mt 158 1 ;:;;";;J\“
:ﬁéaﬁs;/&ﬁ
) =3t
A

P

K _ . —’\
‘ (\"ﬁ‘;ﬁjx ‘;’J: \é’:: %M —_— Y h

!
D ‘l\ha’a«*)g ) 3’%%@ AR = Llo S, §8Ca44)
..," q'b B | -
M } é,&/i?“z}i
Lﬂ) gl
4 f“\z"‘\ (/Ji ST
L z




> salll Jal

2014/2013 Alazal) dsalaal) jladal
L_'é:é.:ﬁ 9 MIAA (@A

1 Ol
) mB Adte () e il a e ey o gudalls Ada yall Aol 3 gul) )
gl pdl 28 211
80.000 e Ol e23 218 fg o
13.600 Alaall Aeill o an )l 4456 /7

Qi 513 [r ol

93.600

~2008/12/31 — <DlaY) 48 -2.1
8.000 MY Saade 6818 /7 o

8.000 <Diay 2818 [z
8.000 = 1/2 x %20 x 80.000 |

6 sedl Y e (5555 ¢ pmlall e ol e Aglle din JS Ailed il ) Sy

8 W e 4,000 ¢16.000 ¢16.000 ¢16.000 @b WS 2012 SN 2009 o<

2011/12/31 — Gywlad) dad kel ad 3.1

7.200

AUdY) jarade 6818 /7 (sl

7.200 adll Hila 2918 /7 ) |
10/3 (56.000 - 80.000)
2012/04/01 — <l e J3ul 2841
2012/03/31 (! 2012/01/01 & 5L ¢ DAY B L) (1
4.000 ARV avads 6818 /7 o
4.000 Y1 2818 fz LY |
: 12/3x16000 |
‘\.dl..d\ Gl fn.d )Ab..u; &L:;J.WA u\..u\

7.200 Ggmlall ad s 2918 /C uﬂl
7200 sl clels i 781 /7 Y |
10/3 (56.000 - 80.000) |

Jonal m k..aL.u\ (
60.000 Daayl 2818 /C O
P 10.000 i) o ufaé‘ﬁi 652 /7 e
' i ) 325 218 /g |




)..d\ ua.ﬁLu.d\ JMY\ ‘u.:)b (_923 s_a‘gubl\ SHa) djh JLLC\ 2

g 84 Aadl) Ala «JM\J\ e s siad) DAY | Ay jibal) Aadl) | Al
64.000 16.000 ~ 16.000 180.000 | 2008
38.400 41.600 25.600 80.000 | 2009
23.040 56.960 7 15.360 80.000 | 2010
13.824 66.176 9.216 80.000 | 2011
8.294 71.706 5.530 80.000 | 2012
4.976 75.024 3.318 80.000 | 2013

s sieall EAY) s Lok

16.000 12/6 x 0.4 x 80.000 | 2008
25.600 ~ [0.4(16.000-80.000)] 2009
15.360 [0.4(25.600 +16.000)-80.000] ' 2010
9.216 [0.4(15360 +25.600 +16.000)-80.000] | 2011
5.530 [0.4(9.216 +15360 + 25.600 +16.000)-80.000] | 2012
3.318 [0.4(5.530 + 9.216 +15360 + 25.600 +16.000)-80.000] = 2013
2 Gl
2007/04/12 - ag) £ o 43 L) 1,2
1.545.000 (1) Slaalows 261 /7 (s
1.359.600 () Glealis 261 /7 (1

2.904.600 il 512 /7
1.545.000 = 45.000 + 1.500.000 (1) ag=V!
1.359.600 = 39600 + 1.320.000 (<) e~
ageat) a (e gil) Dl (bl e (84.600) L) A gandl e g adaadla
2007/05/20 - pg) 2158 AN L) 22,2
273.000 Qi 512 /z 0|
273.000 e R Jel e S o
z2165.000 = 110 x 1.500 (1) ae=Y!
= £2108.000 =90 x 1.200 :(=) pe=s!
2007/05/20 - Al Al gand) i) -3.2
. 5.460 Al il 627 fz O
5.460 |

Al 512 /7 Y

z25.460 = 0.02 x 273. OOO‘




84.000

75.000

~2007/12/31 - Allal) i) (uﬁ A <) -4 2

()f‘é"‘y‘?-’&ﬁmdw6818/7’;ﬁ

75.000 (\) e@u‘y\ r:.zs Al 2918 Iz GJ\
84.000 (@) adll $led 2918 I & J
2009/06/02 - Adldl cliial) ad jilud gl il Cld) -5.2
75.000 () sed) ad yilud 2918 lla QJ
ledl lels 51 781 /-
_7so00 || meted
2009/06/02 - (1) gyl & JJl) i) 6.2
1.650.000 Al 512 /7 e
1.545.000 (1) leals 261 /7 |
105.000 m mhal\ CLUY\ 767 /C Ls_}\
Bl geal e |
2009/06/02 - 4.l Al gard) Juans @il -
8.250 Sl @leadl) 627 /7 _)A!
2 8.250 = 0.005 x 1.650.000
3 Cmpadll
Nl salall oyl Jalal m..Jl:dajz()lngu)@.uumm;;m -1.3
Y] Cilaall &5 | e Liall 48l B ij
365.000 240.000 = 120 x 2.000 |  3.000 2013/03/06 |
| 125000=125x1.000 | o
328300 @ 187 7.500 = 125 x 1.500 2.600 2013/03/18
140.800 = 128 x 1.100 N
260.000 51.200 = 128 x 400 |  2.000 2013/03/30
104.000 = 130 x 800
104.800 = 131 x 800
953.300 953.300 - 7.600 Slasall A £ gana
- @Lud\ @\)H\d.u}:ud&\g uJLAAYJﬂL@J} J\JAA 23
i - oedd
1.434.000 Clagaall 31 )
953.300 B S
480.700 N ¥ el




Aad A Jal) L) G gl 438 (B Lagal Jreaatill ALIGY Aagdl) ) dilcay i) sasl® ) slite) 3.3
) ) , . 3 N - 2013/12/31 uﬁ u-n-\-” sl dﬁj UJM\
| 48033 | 2y gall 5 Y] Claaie 685 /5 e

“ @w\ujww}l_u_;390/7$n

240.167 =1.2/288.200 = 131 x 2200
48033 =240167 - 288.000 «



Université de BATNA
Faculté des sciences économiques, commerciale et sciences de la gestion
LMD 3 : Finance, Comptabilité & Audit

o2

le 15/01/2014 A

Durée :1h30 .
semestre : 5 i}%\ :

¥

CORRIGE TYPE DU CONTROLE N°1 D'INFORMATIQUE

REPONSES (08= 0,5+ 1,5+1+(0,5+1)+1,5+1+0,5+0,5)

1. Delphi est un: langage de programmation @0 a2} 9o sal>
2. Les fichiers de base qui constituent un projet Delphi sont : (sa)s £9,uired @gSell dwlwVl wlaloll

Fichier projet (.DPR),

.

modification) dans le contenu d’un composant.

Fichier unité (.PAS)

Fichier fiche (.DFM)

Les composants conteneurs étudiés sont : Form & GroupBox s @ugl=ll wligSoll
L'évenement Onchange se déclenche lors de la production d’un changement (ajout, suppression ou

OgSoll Sgixe (9 (Juasi ol Wi> @8lo]) e wazy loaic Onchange o=l gi
Les composants qui possédent OnChange sont : Edit, Memo, ComboBox.: (sa Wizl lis ) sl wligSell

5. Les instructions qui vident les composants sont : wlgSeJl Sgizeo £1,3] oo oSl (il (sals @ lowdssll

S\D
o Memol: {Memo1.clear;
o Labell: { Label1.Caption :="; }
o ListBox1: { ListBox1.clear;

ou Memo1.Lines.Clear; }

ou ListBox1.ltems.Clear ; }

6. Les propriétés d'une Base de données sont : s wlly é1cld Lailas

o Exhaustivité des données

o Nonredondance des données
o Données structurées

o Données en liaison

% N

avec le bouton OK

EXERCICE 1 (04=(1+1)+1+1)

ProcedureTForm1.Button1Click(Sender:
TObject);

Begin

ifStrTolnt(Edit1.Text) Mod 2 =0 Then
ListBox1.Items.Add(Edit1.Text)

else

ListBox2.Items.Add(Edit1.Text);
Editl.Clear;

End;

1. Sil'utilisateur fait :

Un SGBD (Systéme de Gestion de Bases de données) est un logiciel qui gére les bases de données
La procédure ShowMessage affiche un message (texte défini par I'utilisateur) dans une boite de message

Entrer un ertier

Deviner

B e

Liste 2

a. Saisir la valeur 12 puis cliquer Deviner Alors la valeur 12 sera Ajouter a la liste 1 {ListBox1)

( ListBox1) 1 aoslall oo 12 saell 2,0

b. Saisir la valeur 27 puis cliquer DevinerAlors Ia valeur 27 sera Ajouter a la liste 2 (ListBox2)

( ListBox2) 2 aoslall oo 27 sa2l 2,0
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Cette application permet de détecter Ia parité de chaque nombre entré dans le com

posant « Editl ». s'il s’agit
d’un nombre paire ; elle I'ajoute a Ia liste 1 ; sinon (un nombre impair )

elle le place dans la liste 2.
: "Editl" vgSell (88 ool als>y sae JS axdlzey Gl i g,
(493l slaeVl &oils ) 1 anslall (56 ax)sl JLxrg; saall ol ER
(aus,8)l slaeVl aosls ) 2 daslall J| aslol AVSCRVILEN| Ll e
3. Oui, il aura des valeurs en double dans les listes de cette application et ceci parce que I'utilisateur peut répéter
plusieurs fois la saisie d’'une méme valeur.

wlwdbspwwMluywsgéﬁhﬂllmﬁlﬁgéé)ﬁpmdmumpm
o d1c
EXERCICE 2 (08=2,5+1,5+0,5+3+0,5)

Pour gérer les mouvements d'un compte bancaire, on vous propose le développement de la fiche Delphi suivante:

Soldé :

+*Opération--
B1 /

Versement

 Valider

— "~ Betrait

. Valeur 30.0'

L'utilisateur peut choisir entre une opération de versement ou de retrait d'une valeur en dinar.
Ll b gl woew ol gly] adac s> Gw LV Jeeitwol) Say

Un Clic sur le composant D permet :D ugSoll (sle ,a:JL oLy
e l'affichage de I'heure systéme dans le composant C.

C UgSall U=1s plail wudgs lpbs]

* l'ajout de la valeur saisie dans E & celle de F et affichage de la somme dans F, si versement est coché
el adoc jLisl o5 I5[:F (e aseusll Hleb] oF e ol Lol g Ecsd J5aall &loll go>
® lasoustraction de la valeur saisie dans E de celle de F et affichage du résultat obtenu dans F, si retrait est
coché

ol &lac Ll o I3F (ale @il Jlpbl s F sde 5alall swo,)l oo E (8 J52501 glooll eb
Condition : le solde initial d'un compte doit obligatoirement étre supérieur ou égal & 1000 dinar et
ne doit jamais diminuer en dessous de cette valeur.

Qoyusll omu_cl_).._uiJj._gUfL__az__J_\Jg ,Lu> 1000 tSSLu.USI).ASIUQSJ ol w

= oV ol b i
1. Lesnoms des composants «UgSell ¢locwl
A B1 B2 E D E F
GroupBox1 RadioButtonl | RadioButton2 | Labell BitBtn1 Editl Label2
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3.

4.

Caption Checked PassWordChar
Type propriété Boolean
A Opération / / /
Bl Versement / False /
D Valider / / /
E / 0,0 / #0
F 1000 / / /

Le composant adéquat pour afficher le logo de la banque sur la fiche est : Image

Image : 93 z3goudl (sde cLdl [lew HlpbY wawlodl vgSall

Le code de la procédure qui traite I'événement OnClick du composant D est:

iwsd D ugSlell Onclick wamdl pdley sl sVl 6,80

Procedure TForm1.BitBtn1Click(Sender: TObject);

Var solde, val :real;
Begin
Labell.Caption:=TimeToStr(time);
solde:=StrToFloat(label2.Caption);
if radiobutton1.Checked then
Begin
Val:=StrToFloat(Edit1.Text);
solde:= solde+val;
End;
if radiobutton2.Checked then
Begin
val:=StrToFloat(Edit1.Text);
if solde-val <1000 then

showmessage ('impossible d"effectuer cette opération. le solde atteint le min')

else

solde:= solde-val;
End;
Label2.Caption:=FloatToStr(solde);
End;

Pour que I'application puisse sauvegarder d'une maniére permanente la trace de toutes les opérations de

versement et de retrait, nous devons utiliser une base de données.
WLl 8228 Jbeiwl Lude wogn gl 5 ceadl Oldoe JS )3“\1 el Ul Jemewddl o Saabaidl Sosy (s>
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UNIVERSITY OF BATNA
DEPARTEMENT OF ECONOMY
THIRDYEAR LMD CLASSE {Comptabilité G11)

LECTURER/M.YOUSFI KENZA

Correction of the first exam

SECTION ONE: READING COMPREHENSION.

/EE( 1. There are three paragraphs in the passage

//‘/2 True or false :
a) False b) false c) true d) true

. The ideais mentioned in §2

©

\E‘,

¥ 4. Discourse cohesion
a) Coal b) children c¢) twentieth-man.

/y

75 5. Comprehension
a) The sources of energy mentioned in the text are:coal,gas,oil, nuclear and solar

energy.

b) Solar energy is used to built glass houses and to distil sea water

c) The population has increased thanks to medical progress. The invention of new
remedies such as penicillin and aureomycine has saved many patients from
death.

/;/&. Synonyms
*1=4 *2=3 *3=1 *4=2

Section two : mastery of language :

Qy Punctuation

Human inventiveness faces two main challenges .One is to promote the economic
development of poor countries .The other challenge is to deal with harmful
conseqguences of existing inventions.

{&}2/ The odd word:

a) Industry b) tenderness
y Opposites
*1=3 *2=4 *3=1 *4=2

"/f 4.Scrambled sentences

There are two basic approaches to prolonging life. One is the elimination of diseases such as
heart diseases and brain attacks; the other is the slowing down of the process of growing
old.
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ANSWERS OF THE FIRST EXAM OF ENGLISH

GROUPS: 8™ FINANCE JEACHER: BOULEKHOUKH

ANSWERS:
1} - Find the kev words and translate them into ArabiC............. {10 PTS)
Financial crisis S Aglie due 3

Financial institutions 5 4dbe Clissge

Assets —— o
Banking panics e 30 iyl il

Recessions S 38y Ela
Stock market SUERN Y o) (3 gun

Cutrency crises e Alasll Ao
Paper wealth = = Al 5 5
Depression o sl
Economists ey Owall o i

It
st

- Give a title to the texi.........[01 PTS)

The tinancial crisis
3} - Answer the following questions v {15 PTS)

a) ~What is a financial crisis?

-The term financial crisis is applied broadly to a variety of situations in which some financial institutions or assets

suddenly lose a large part of their value.

b}~ What are the other situations that are often called financial crises?

-Other situations that are often called financial crises include stock market crashes and the bur sting of other financial

bubbles, and currency crises.

£} — Many economists have offered theories about what?

-Many economists have offered theories about how financial crises develop and how they could be prevented.

4} True or falseia e {1,5PTS)

a} — A financial crisis is when financial institutions or assets suddenly lose a small part of their value.

b} — Financial crises directly result a loss of paper wealth. TRUE

¢} — Financial crises are still a regular ocowrence around the world. TRUE

- Synonyms from the texd . { 02RTS)
Mamed=  CALLED

&) - Opposites from the texf L. [ 02PTS)

Late= EARLY , Small= LARGE
7} - Complete the table below:............ {02PT5)
infinitive present past
TOBUY He buys BOUGHT
Tobe HE 15 HE WAS
To study HE STUDIES HE STUDIED
TO PRAY HE PRAYS He praved

FALSE



ANSWERS OF THE FIRST EXAM OF ENGLISH

GROUPS: 8™ FINANCE TEACHER: BOULEKHOUKH
ANSWERS:
1) - Find the key words and translate them into Arabic............... {10 PTS)

Financial crisis —— glle i 5l

Financial institutions — 5  4lle Clusse

Assets ————p Jpeal

Banking panics —— &S Sl yland

Recessions —> 28y a¥la

Stock market R el (35

Currency crises —_—p dlaall 40 3

Paper wealth cne e Lt 34 Al

Depression , sl

Economists —y Ol el i

2) -Give a title to the text............[01 PTS)
The financial crisis

3} - Answer the following questions r....ccccvnnn. (1,5 PTS)
a) — What is a financial crisis?

-The term financial crisis is applied broadly to a variety of situations in which some financial institutions or assets
suddenly lose a large part of their value.

b} — What are the other situations that are often called financial crises?

-Other situations that are often called financial crises include stock market crashes and the bursting of other financial
bubbles, and currency crises.

¢) — Many economists have offered theories about what?
-Many economists have offered theories about how financial crises develop and how they could be prevented.

4)-True or false:......cccoeeveerne (1,5PTS)

a) — A financial crisis is when financial institutions or assets suddenly lose a small part of their value. FALSE
b) — Financial crises directly result a loss of paper wealth. TRUE

¢} — Financial crises are still a regular occurrence around the world. TRUE

5) - Synonyms from the text t....cooeennen, { 02PTS)

Named=  CALLED , Problems= BUBBLES

6) - Opposites from the text ......cccoeeeeee. {02PTS)

Late= EARLY , Small= LARGE

7} - Complete the table below:............. (02PTS)
infinitive present past
TO BUY He buys BOUGHT

To be HEIS HE WAS

To study HE STUDIES HE STUDIED
TO PRAY HE PRAYS He prayed
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University of batna o P NAME feverrireineens L e—
Faculty of economics and management Group fueeeenssit f S e

Groups:1,2,3,7, &12 Teacher : Yahiaoui Hanane

FIRST EXAMINATION IN TECHNICAL ENGLISH
PART ONE : Ehe CG%\Q@@’W

A/-Translate the following wo;d”é to Ar\ablc (3 pts)

Accounting equation @i

Perpetual succession :.

-

7 £

P ) o ] . “ ﬂ . [
g "“.:y Q\ i “ 4 7 N 1
AR 3 V4 F 18 {nj\., RATAN Mm P\ y-u .a..,n;.f;.a.;};M:_:.'\nfx..(.‘.;.‘.

i

‘}’ i:;;‘ka.} \Li .J-‘-'ﬁ ------ CJAJA‘ m‘ '3! {wi\%( ‘i\“--hn\_\- ):»_ “in ':.‘-‘.-l-- 3G

;(._‘ 2

C/-Nla;ke a comparalsonb'etw N Long term Assets and Short term-
assets : (3pts)

(Long term Assets ; Short term Assets

T Y 3 .:, 9 T ) :\:‘ >
T e TR VON K ' ¥ (o \z‘%‘xv-gf‘ﬁb VAR~ .

\ . ] 4!
. % y Lo
0 M ‘ uﬁ PP :

ST - CATUK W‘{' R A x LUl

o
PR \
e d s \“ A
N ~€M&4’«‘\x¢ ARSI AY k

owey Mo ‘ﬁ' --«g qéf AT,

W P T
o\ X .{,“,)L (g vé g

|

D/-Choose the correct answer (1.5 pt)

1/- The process by which accounting mformatlon is g‘qylwl_gg“tugd re_EQEgQ

and auctioned is : financial accounting fmancnal management Z
‘s .

SEE R ;\

2/-Say what are the following acronyms :( 2pts)

CNSR (cnep) :....4.,.{'.:--?;2&‘;'.1...,..w,.‘vm NG fed i J A (N
BNP :../o20 50 b e LR NALN Gratlu D koS 00\
) AN - L

s O



3/-write the following amounts in letters :(2pts) =
‘;5% 4 j g‘ - "f"’ %‘ }'K é‘ s it iy : : “i 1 AR ”‘/ & ‘E{
1.000 AD=..L. AL Ihiiss A Ak ddaa L Wenaa

500.000 AD=. (\.;

‘_-rw

3\;. | &“\K-f \ i..
4/-translate the following passage to Arabic (1.5pt)

Inflation refers to an. Economic situation in Wthh the prices of goods

and serv1ces increase above the normal general price level. (

AVEIRRAT a5 :T."i.*.'..r.‘.ku.{""\)““ﬂf,'«g G I ARV G P

PART TWO : (GRAMMAR))
1/—Reorder these words to get a correct sentence :(1PT)
Prefer/i/the /cIean/better/dwty/than/one/class/
wi f;’“:..‘ hg... \t z‘w sf WHU&“\MW*.M; \,;f e
2/-Ask questéon on the underiined wdrds : (1pt)
I would Ilke to see the head master o
Whom h £ %\- U.: IHI ’~ s { ( “f’ L8 (- L il
( ‘;'
3/-Complete the chart Bellow (2pts)
r Verb \ Noun. Adjective
Lr K e GO Consﬂumpj;,ion Vs il €
To behave Vo ﬁfg,t ) S ke Y

TO MY DEAR STUDENTS : &0GOD LUCK
YOUR TEACHER : YAHIAOUI HANANE
REMEMBER : (DON'T DESPAIR AND NEVER LOOSE HOPE

CAUSE ALLAH IS ALWAYS BY YOUR SIDE)



University of batna | Full NaMme feeeveennreenes / ...............

/

Faculty of economics and management (] o0 s B TN

Groups:1,2,3,7, &12 Teacher : Yahiaoui Hanane

FIRST EXAMINATION IN TECHNICAL ENGLISH

PART ONE : < (B U’\_Q,&Z)D'@’Y\ — \>

A/-Translate the following wo 0. Arabic : (3 pts ) /L s \(

Accounting equation :...45.amwm '.v:...a,,/,f\ﬁvbancassurance....m,rﬂf“ G

2o [0, Loss ratio : 2{ !/"Mf.\.)@/\\
e A
/g_/\j
oF,_/

—

Translate the following wordsto Enghsh (3 pts

Perpetual succession :....4.

B/-
‘(J\%.Q.OMQQ«GQ(S\ QAN O sanlaa usyjmzdmnmtc s m,’tg;_ws salgd
&n &ffﬂ\.t_pg ...... Z el Al meamag.). Am,;uiu Julal)

C/- Nlake a comparaison between : Long term Asset and Short term-

assets : (3pts )

| Long term Assets : Short term Assets

e

*JLﬂJCoow% oy () * ié,’de%\\oxfi\ ~ . ((/L(
\ \ %

e MEN - (LW ‘Y /X « Cuuren—
f(s\k “N%A\S\ : w»éu 9& J’/ng 9@\ A O \QA\ -

S e R el ,§ (npery
/V\?A—\(X?k Lkuo Lo \os? Lgy\\;g‘\‘w,\ éﬂ Ub,\“ka/c\ M‘tl—@ COQ&( i

|

D/-Choose the correct answer (1.5 pt )

1/- The process by which accounting information is collected reported :
and auctioned is : financial accounting CflLanCIal management (

i

2/-Say what are the following acronyms :( 2pts)

BNP f%m‘t\.Kwﬁﬂ'\éthbMQ%m\D pgu\ Jos @ \



3/-write the following amounts in letters "(Z‘pt‘s) > '
1.000 AD=.. CQ/)‘L H\Cﬂm /m.o f%. mamD WaANA @/ :
'500.000 AD-%‘VP_ Q\\i\umﬁ AL, k@sﬁ\wmmw A%ﬁ (V=) DV\\(&/\A
4/-translate the following passage to.Arabic : (1.5pt)
Inflation refers to an Economic situation in which the prices of good
and serv1ces increase above the normal general price level. (77
} i - "ﬂ
‘\ ] EAM\LVJM “..;-\\L _)mn»(\....) %ZJ:Q,A\\.\ s
s
LS_)\&.«?:JX\ (\5 va%.(. 1\935\%.) ).) “,)G*; s 6 J\ jW\ )% I

psoosi bl @hszdd
PART TWO : (GRAMMAR)

1/-Reorder thesé wdrds to get a correct sentence :(1PT)

Prefer/i/the /clean/better/dwty/than/one/class/ _
- \7««&%1\ Hﬁ«u (&bm\ d@n.....bd}k@/s &c(/\am “p%ﬂu‘xtgﬂ\& @
2/-Ask ques; ion on the underimed words {1pt)

| would like to see the head master 3

Whomw m&é «.55\,\% JE&/}AQL?

3/-Comprlete the chart Bellow (2pts)

' Eer LLm\s\fsJW\Q,

o \\

10 MY DEAR STUDENTS : GOOOD LUCK
YOUR TEACHER : YAHIAOUI HANANE

REMEMBER : (DON'T DESPAIR AND NEVER LOCSE HOPE

CAUSE ALLAH IS ALWAYS BY YOUR SIDE)
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